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Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made it mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories betore shipping out export
orders. This 1s welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some produets or to
exports.

Ensuring quality 1s the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports 1s like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent.
statutory regulatory system that has the capacity to provide oversight to an increasingly complex
pharmaceutical ndustry while protecting public health and patient rights 13 required. CDSCO is the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts independent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 1s the third-largest pharma manufacturer. meeting 20% of global generic demand. The $41 billion
industry is estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions

Question Number : 1 Question Id : 68634022272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

2

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634088001. 1
68634088002. 2
68634088003. 3
68634088004. 4

Question Number : 2 Question Id : 68634022273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym or the term 'Overhaul'

1. Overhear

[

. Examine
3. Excessive growth
4. Overexpose

Options :

68634088005. 1
68634088006. 2
68634088007. 3
68634088008. 4

Question Number : 3 Question Id : 68634022274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO

4. CDVO

Options :

68634088009. 1
68634088010. 2
68634088011. 3
68634088012. 4

Question Number : 4 Question Id : 68634022275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are :

1. Medicines used by high class people.

()

. Medicines having old brand name.
3. Medicines having no brand name.

4. Medicmes meant for plants and animals only.

Options :

68634088013. 1
68634088014. 2
68634088015. 3



68634088016. 4

Question Number : 5 Question Id : 68634022276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

2

. 10 Million
3. 100 Million

4, 1000 Million

Options :

68634088017. 1
68634088018. 2
68634088019. 3
68634088020. 4

Question Id : 68634022271 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage very carefully and answer the questions.
Good Med Abroad Is Good Med fir Home

The directorate General of Foreign Trade (DGFT) has made it mandatory for all cough syrup exporters to have
their product tested and certified for quality at specified government laboratories before shipping out export
orders. This 13 welcome. It will begin to repair the reputational damage over alleged Indian cough syrup-
related deaths in some countries last year. Safeguarding quality cannot be limited to some produets or to
exports.

Ensuring quality is the Central Drugs Standard Control Organization's (CDSCO) responsibility, not DGFT's
Setting norms for exports is like applying a band-aid to a wound that requires stitches. CDSCO needs an
overhaul. In the current fragmented system. quality and standardization are casualties. A modern. Independent,
statutory regulatory system that has the capacity to provide oversight to an inereasingly complex
pharmaceutical ndustry while protecting public health and patient rights 13 required. CDSCO is the non-
statutory regulator under the health ministry. It has no jurisdiction over State Drug Regulatory Authorities
(SDRAS) that are part of state health departments. Each regulatory body acts imndependent of the other. This
must change. The regulatory approach. too. needs to change. Shifting from an overwhelming focus on
manufacturing to public health requires putting a doctor in charge. and shifting the regulator with
multidisciplinary teams.

India 18 the third-largest pharma manufacturer. meeting 20% of global generie demand. The $41 billion
industry 1s estimated to grow further -$50-65 billion by 2025, and $120-130 billion by 2030. Ensuring all
Indian pharma products meets quality standards will help with public health both at home and abroad, while
growing India's pharma footprint.

Sub questions



Question Number : 1 Question Id : 68634022272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CDSCO stands for :

1. Center for Drugs Taste Control Organisation

()

. Center for Drum Taste Control Organisation
3. Center for Drugs Taste Connection Organisation

4. Central Drugs Standard Control Organisation

Options :

68634088001. 1
68634088002. 2
68634088003. 3
68634088004. 4

Question Number : 2 Question Id : 68634022273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym or the term 'Overhaul'

1. Overhear

[

. Examine
3. Excessive growth
4. Overexpose

Options :

68634088005. 1
68634088006. 2
68634088007 3
68634088008. 4

Question Number : 3 Question Id : 68634022274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph whose duty is to ensure quality of the drugs in India ?
1. CDSCO
2. DGFT
3. CDMO
4. CDVO

Options :



68634088009. 1
68634088010. 2
68634088011. 3
68634088012. 4

Question Number : 4 Question Id : 68634022275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Generic medicines are :

1. Medicines used by high class people.

[

. Mediemes having old brand name.

. Medicmes having no brand name.

L ¥]

4. Medicines meant for plants and animals only.

Options :

68634088013. 1
68634088014. 2
68634088015. 3
68634088016. 4

Question Number : 5 Question Id : 68634022276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Billion means :

1. 10 Crore

[

. 10 Million

. 100 Mallion

L]

4, 1000 Million

Options :

68634088017. 1
68634088018. 2
68634088019. 3
68634088020. 4

Sub-Section Number : 2
Sub-Section Id : 686340726
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634022277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the meamng of the underlined word m the following sentence:
He 15 done for.

1. revived

| ]

. ruined
3. glorified
4. encouraged

Options :

68634088021. 1
68634088022. 2
68634088023. 3
68634088024. 4

Question Number : 6 Question Id : 68634022277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of the underlined word in the following sentence:

He 15 done for.

1. revived

| )

. ruined
3. glorified

4. encouraged

Options :

68634088021. 1
68634088022. 2
68634088023. 3
68634088024. 4

Question Number : 7 Question Id : 68634022278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common
Q. love. friendship and respect
R. do not unite people as
S. hatred for something
Choose the correct answer from the options given below:
1.S,PR,Q
2.Q.S.R.P
3.P.Q.S.R

4.Q.R.PS

Options :

68634088025. 1
68634088026. 2
68634088027. 3
68634088028. 4

Question Number : 7 Question Id : 68634022278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rearrange the following parts of a sentence to make a meaningful sentence.
P. much as a common
Q. love. friendship and respect
R. do not unite people as
S. hatred for something
Choose the correct answer from the options given below:
1.S.P.R.Q
Z2:.Q,8,RP
3.P.Q.S.R

4.Q.R.PS

Options :

68634088025. 1
68634088026. 2
68634088027. 3
68634088028. 4



Question Number : 8 Question Id : 68634022279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word m the following sentence.
You are paying less attention to your studies than vou used to do.

1. Noun

| ]

. Pronoun
3. Verb
4. Adjective

Options :

68634088029. 1
68634088030. 2
68634088031. 3
68634088032. 4

Question Number : 8 Question Id : 68634022279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the part of speech of the underlined word i the following sentence.

You are paying less attention to your studies than you used to do.

1. Noun

| )

. Pronoun
3. Verb
4. Adjective

Options :

68634088029. 1
68634088030. 2
68634088031. 3
68634088032. 4

Question Number : 9 Question Id : 68634022280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the passive voice of the followmg sentence.
She looks after the child.

1. The child are looked after by her.

[

. The child were looked after by her.
3. The child is looked after by her.

4, The child looks after her.

Options :

68634088033. 1
68634088034. 2
68634088035. 3
68634088036. 4

Question Number : 9 Question Id : 68634022280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the passive voice of the following sentence.

She looks after the child.

1. The child are looked after by her.

[ ]

. The child were looked after by her.
3. The child is looked after by her.

4. The child looks after her.

Options :

68634088033. 1
68634088034. 2
68634088035. 3
68634088036. 4

Question Number : 10 Question Id : 68634022281 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the one word for the following:
" B " cl "
Possessing unlimited powers.

1. Omuniscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634088037. 1
68634088038. 2
68634088039. 3
68634088040. 4

Question Number : 10 Question Id : 68634022281 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the one word for the following:
"Possessmg unlimited powers.”

1. Omuiscient

| )

. Omnipotent
3. Omnipresent

4. Omnicompetent

Options :

68634088037. 1
68634088038. 2
68634088039. 3
68634088040. 4

Question Number : 11 Question Id : 68634022282 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following was an Indian astronomer. mathematician and astrologer who lived m Ujjain m the

6™ century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

[

. Gotam Muni

. Ishwaralrishna

L]

4. Varahamihira

Options :

68634088041. 1
68634088042. 2
68634088043. 3
68634088044. 4

Question Number : 11 Question Id : 68634022282 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was an Indian astronomer. mathematician and astrologer who lived in Ujjain m the
6™ century AD and was one of the nine jewels (Navratnas) of the court of legendary ruler Yashodharman

vikramaditya of Malwa?

1. Bhaskaracharya

()

. Gotam Mumi

. Ishwaralarishna

[F¥]

. Varahamihira

s

Options :

68634088041. 1
68634088042. 2
68634088043. 3
68634088044. 4

Question Number : 12 Question Id : 68634022283 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1. P.T. Usha

()

. Vijendra Singh
3. Neeraj Chopra

4. PV Sindhu



Options :

68634088045. 1
68634088046. 2
68634088047. 3
68634088048. 4

Question Number : 12 Question Id : 68634022283 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Indian Athlete to win Olympic Gold Medal for India 1s :

1.P.T. Usha

[

. Vijendra Singh

T

. Neeraj Chopra

4. PV. Sindhu

Options :

68634088045. 1
68634088046. 2
68634088047. 3
68634088048. 4

Question Number : 13 Question Id : 68634022284 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Milk produced during the initial few days of lactation’ is called :

1. Antrum

[

. Colostrum

. Fulerum

L]

4, Cholesterol

Options :

68634088049. 1
68634088050. 2
68634088051. 3
68634088052. 4

Question Number : 13 Question Id : 68634022284 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Malk produced during the mnitial few days of 'lactation’ 1s called :

1. Antrum

[ E]

. Colostrum
3. Fulermm

4. Cholesterol

Options :

68634088049. 1
68634088050. 2
68634088051. 3
68634088052. 4

Question Number : 14 Question Id : 68634022285 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jamism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A, B and D only

)

.B, C and D only

Laa

. C and D only

4. D only

Options :

68634088053. 1
68634088054. 2
68634088055. 3
68634088056. 4

Question Number : 14 Question Id : 68634022285 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The caves and rock-cut temples at Ellora belong to which of the following religion(s)?

A. Confucianism
B. Jainism

C. Buddhism

D. Hindu

Choose the correct answer from the options given below:

1. A, B and D only

()

.B. C and D only

[ ¥]

.C and D only

4. D only

Options :

68634088053. 1
68634088054. 2
68634088055. 3
68634088056. 4

Question Number : 15 Question Id : 68634022286 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following constitute the electoral college for electing the President of India?

A, Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Couneil

D. Elected members of Rajyva Sabha

Choose the correct answer from the options given below:

1. A, B and D only

()

A, Cand D only

[F¥]

.B. C and D only

4. A and B only

Options :

68634088057. 1
68634088058. 2
68634088059. 3
68634088060. 4

Question Number : 15 Question Id : 68634022286 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following constitute the electoral college for electing the President of India?

A, Elected members of Lok Sabha

B. Elected members of the Legislative Assembly of each state
C. Elected members of the Legislative Couneil

D. Elected members of Rajyva Sabha

Choose the correct answer from the options given below:

1. A, B and D only

()

.A. Cand D only

[ ¥]

.B. C and D only

4. A and B only

Options :

68634088057. 1
68634088058. 2
68634088059. 3
68634088060. 4

Question Number : 16 Question Id : 68634022287 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a row of students. the position of Vikas from the left side of the row is 18t and the position of Vikas from

the right side of the row is 38t Find the total number of students in the row?
1.55
2.56

ST

Laa

4. 58

Options :

68634088061. 1
68634088062. 2
68634088063. 3
68634088064. 4

Question Number : 16 Question Id : 68634022287 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a row of students. the position of Vikas from the left side of the row is 18 and the position of Vikas from

8t Find the total number of students in the row?

the right side of the row 1s 3
1.55
2.56

ST

(Y]

4. 58

Options :

68634088061. 1
68634088062. 2
68634088063. 3
68634088064. 4

Question Number : 17 Question Id : 68634022288 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged m descending order, which among the
tollowing corresponds to the smallest number?

1. 865
2. 468

993

Laa

4. 786

Options :

686340880065. 1
68634088066. 2
68634088067. 3
68634088068. 4

Question Number : 17 Question Id : 68634022288 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If for each number in the given options, all their digits are arranged m descending order, which among the
tollowing corresponds to the smallest number?

1. 865
2. 468

993

Laa

4. 786

Options :



68634088065. 1
68634088066. 2
68634088067. 3
68634088068. 4

Question Number : 18 Question Id : 68634022289 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : I. It 1s impossible to grow and produce all that a country needs.
II. The people of the country in general have become lazy.

1. Only II conclusion follows.

(o)

. Both I and IT conclusion follows.

. Either I or II follows.

Lad

4. Only I conclusion follows.

Options :

68634088069. 1
68634088070. 2
68634088071. 3
68634088072. 4

Question Number : 18 Question Id : 68634022289 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement : No country 1s absolutely self-dependent these days.
Conclusion : I. Tt 1s impossible to grow and produce all that a country needs.
II. The people of the country in general have become lazy.

1. Only IT conclusion follows.

[ )

. Both I and II conclusion follows.

. Either I or II follows.

T

4. Only I conclusion follows.

Options :

68634088069. 1
68634088070. 2
68634088071. 3
68634088072. 4



Question Number : 19 Question Id : 68634022290 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1.18

[ )

"
3.16
4.15

Options :

68634088073. 1
68634088074. 2
68634088075. 3
68634088076. 4

Question Number : 19 Question Id : 68634022290 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series : 1224, 612, 204, 102, 34........ Which one of the following numbers should come next in the
series?

1.18

[ )

"
3.16
4.15

Options :

68634088073. 1
68634088074. 2
68634088075. 3
68634088076. 4

Question Number : 20 Question Id : 68634022291 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Six friends Arun, Babita. Chandra. Dipika. Ekta and Faria are sitting 1 a row facing towards North. Chandra
is sitting between Arun and Ekta. Dipika 1s not at the end. Babita 1s sitting immediate right to Ekta. Faria 12 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

(R

. Babita
3. Chandra

4, Ekta

Options :

68634088077. 1
68634088078. 2
68634088079. 3
68634088080. 4

Question Number : 20 Question Id : 68634022291 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Arun, Babita. Chandra. Dipika. Ekta and Faria are sitting in a row facing towards North. Chandra
is sitting between Arun and Ekta. Dipika 1s not at the end. Babita is sitting immediate right to Ekta. Faria 18 not
at the right end. Who is at the immediate right of Dipila?

1. Arun

[

. Babita
3. Chandra

4. Ekta

Options :

68634088077. 1
68634088078. 2
68634088079. 3
68634088080. 4

Question Number : 21 Question Id : 68634022292 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the equation 3x” — 10x + 2p = 0 has equal roots then the value of p is -

[

Options :

68634088081. 1
68634088082. 2
68634088083. 3
68634088084. 4

Question Number : 21 Question Id : 68634022292 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation 3x” — 10x + 2p = 0 has equal roots then the value of p is -

[ )

Options :

68634088081. 1
68634088082. 2
68634088083. 3
68634088084. 4

Question Number : 22 Question Id : 68634022293 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a certamn sum mnvested on compound mterest becomes 3 times 1n 4 years. then the no. of years in which this
sum will become 27 times at the same rate of mterest 1s -

1. 16 years

()

. 18 years

L]

. 15 years
4. 12 years

Options :

68634088085. 1
68634088086. 2
68634088087 3
68634088088. 4

Question Number : 22 Question Id : 68634022293 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a certain sum invested on compound interest becomes 3 times in 4 years. then the no. of years in which this
sum will become 27 tumes at the same rate of mterest 1s -

1. 16 years

()

. 18 years

L]

. 15 years
4. 12 years

Options :

68634088085. 1
68634088086. 2
68634088087. 3
68634088088. 4

Question Number : 23 Question Id : 68634022294 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two fair dice are thrown. The probability that the number of times the first dice exceeds 3 and that the second
exceeds 4 will be :

i 2
6

i

2
I

6

(1] [«

=

Options :

68634088089. 1
68634088090. 2
68634088091. 3
68634088092. 4

Question Number : 23 Question Id : 68634022294 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two fair dice are thrown. The probability that the number of times the first dice exceeds 3 and that the second
exceeds 4 will be :

i 2
6

Lh

(&

o=

=y
(= 17

Options :

68634088089. 1
68634088090. 2
68634088091. 3
68634088092. 4

Question Number : 24 Question Id : 68634022295 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of 11 numbers 1s 32. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 15
49. The sixth number 1s

—

.51

[

.49

D2

L]

4. 55

Options :

68634088093. 1
68634088094. 2
68634088095. 3
68634088096. 4

Question Number : 24 Question Id : 68634022295 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 11 numbers 1s 52. The average of the first 6 numbers 1s 55 and the average of last 6 numbers 15
49. The sixth number 1s

:h.
N
L

Options :

68634088093. 1
68634088094. 2
68634088095. 3
68634088096. 4

Question Number : 25 Question Id : 68634022296 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from pomt A and point B and
approached each other with speed of 36 kim/hr and 44 km/hr respectively. When they crossed each other. it was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 km

[

4000 km

3.3995 km

4, 400.5 kon



Options :

68634088097. 1
68634088098. 2
68634088099. 3
68634088100. 4

Question Number : 25 Question Id : 68634022296 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two trains each of length 250 m start at the same time on two parallel tracks from pomt A and point B and
approached each other with speed of 36 km/hr and 44 km/hr respectively. When they crossed each other. 1t was
found that one train has moved 40 km more than the other. The distance between A and B 1s :

1. 399.0 lan

| ]

4000 km
3.3995 km

4.400.5 lon

Options :

68634088097. 1
68634088098. 2
68634088099. 3
68634088100. 4

Part B: Horticulture

Section Id : 686340442
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340727
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634022297 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prokaryotic cells contamn specialized areas of nucleic acids called

1. Dictyosomes

()

. Nucleoid
3. Ribosomes
4. Cytoplasm

Options :

68634088101. 1
68634088102. 2
68634088103. 3
68634088104. 4

Question Number : 26 Question Id : 68634022297 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. fsfacaram
 HEPTH

3. IgaANH
4. DG

Options :

68634088101. 1
68634088102. 2
68634088103. 3
68634088104. 4

| ]

Question Number : 27 Question Id : 68634022298 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The aqueous solution which tends to dissolve several organic compounds viz. sugars, amino acids and
proteins. including inorganic materials in cell 1s called

1. Glycol

()

. Peroxisomes

L]

. Peptidoglycan
4. Cytosol

Options :
68634088105. 1



68634088106. 2
68634088107. 3
68634088108. 4

Question Number : 27 Question Id : 68634022298 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088105. 1
68634088106. 2
68634088107. 3
68634088108. 4
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Question Number : 28 Question Id : 68634022299 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inner chloroplast membrane tends to form numerous membrane stacks termed as

1. Thylakoid

()

. Peptidoglycan

. Cytosol

[F¥]

4. Glyoxysomes

Options :

68634088109. 1
68634088110. 2
68634088111. 3
68634088112. 4

Question Number : 28 Question Id : 68634022299 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088109. 1
68634088110. 2
68634088111. 3
68634088112. 4

| ]

Question Number : 29 Question Id : 68634022300 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a protein that 15 soluble in water and performs the functions of metabolic proteins
and most enzymes

1. Prolamins

()

. Globulins

. Glutelins

L]

4. Albumins

Options :

68634088113. 1
68634088114. 2
68634088115. 3
68634088116. 4

Question Number : 29 Question Id : 68634022300 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 & 9 o 9 U oa o goiid § aul Surg=Rit UidE aur ufehug &1 1l Sl 52
1. U=

R RE]
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Options :
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68634088113. 1
68634088114. 2
68634088115. 3
68634088116. 4

Question Number : 30 Question Id : 68634022301 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transfer RNA (tRNA) makes up about of total RNA which have molecular weights in the range of 23-
30kDa

()
—
]
T
—_
N
(=]
=)

. 20-40%

L]

4. 40-60%

Options :

68634088117. 1
68634088118. 2
68634088119. 3
68634088120. 4

Question Number : 30 Question Id : 68634022301 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
23-30 kDa HIUG® YR dT¢ 3RO RNA (+-RNA), F50 RNA H  fah a1 Wi umn Siran g 2

1. 5-10%

[ )

. 10-15%
3. 20-40%
4. 40-60%

Options :

68634088117. 1
68634088118. 2
68634088119. 3
68634088120. 4

Question Number : 31 Question Id : 68634022302 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Protoco-operation 1s a relationship that exists among species under any ecosystem

1. Neutral

[ E]

. Beneficial
3. Negative

4, Random

Options :

68634088121. 1
68634088122. 2
68634088123. 3
68634088124. 4

Question Number : 31 Question Id : 68634022302 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088121. 1
68634088122. 2
68634088123. 3
68634088124. 4

Question Number : 32 Question Id : 68634022303 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

indicates the completion of ecosystem which breakdown the cellular organic compounds into smaller
organic molecules

1. Carnivores

[ )

. Omnivores

Lad

. Saprotrophs
4. Herbivores

Options :
68634088125. 1



68634088126. 2
68634088127. 3
68634088128. 4

Question Number : 32 Question Id : 68634022303 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088125. 1
68634088126. 2
68634088127. 3
68634088128. 4
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Question Number : 33 Question Id : 68634022304 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under ecological pyramids. express quantitative relationship of standmng crops

1. Pyramids of biomass

[

. Pyramids of energy

L]

. Pyramids of numbers

4. Pyramids of functions

Options :

68634088129. 1
68634088130. 2
68634088131. 3
68634088132. 4

Question Number : 33 Question Id : 68634022304 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088129. 1
68634088130. 2
68634088131. 3
68634088132. 4
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Question Number : 34 Question Id : 68634022305 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Geomagnetism doesn't directly represent which of the following factors?

1. Climatic factor

[ E]

. Physical factor
3. Chemical factor
4. Biological factor

Options :

68634088133. 1
68634088134. 2
68634088135. 3
68634088136. 4

Question Number : 34 Question Id : 68634022305 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634088133. 1

[



68634088134. 2
68634088135. 3
68634088136. 4

Question Number : 35 Question Id : 68634022306 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Calvin cycle, first CO, acceptor 1s

1. Phosphoenol pyruvate (PEP)

()

. 3-Phosphoglyceraldehyde (3 PGA)

L%

. Ribulose-1. 5-biphosphate (RuBP)
4. Adenosine triphosphate (ATP)

Options :

68634088137. 1
68634088138. 2
68634088139. 3
68634088140. 4

Question Number : 35 Question Id : 68634022306 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. UFEHIRA e wIEhe (ATP)
Options :
68634088137 1
68634088138 2

68634088139. 3
68634088140. 4
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Question Number : 36 Question Id : 68634022307 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which photosynthetic pathway involves the cooperation of mesophyll cells and bundle sheath cells

1. C5 pathway

()

. C4 pathway
3. CAM
4. Plastocyanm

Options :

68634088141. 1
68634088142. 2
68634088143. 3
68634088144. 4

Question Number : 36 Question Id : 68634022307 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088141. 1
68634088142. 2
68634088143. 3
68634088144. 4
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Question Number : 37 Question Id : 68634022308 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During photosynthesis, the visible wavelength of light ranges between nm
1. 300-700
2. 170-240
3. 340-730

4. 370-760

Options :
68634088145. 1
68634088146. 2



68634088147. 3
68634088148. 4

Question Number : 37 Question Id : 68634022308 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 300-700

-

. 170-240

. 340-730

g

4, 370-760

Options :

68634088145. 1
68634088146. 2
68634088147. 3
68634088148. 4

Question Number : 38 Question Id : 68634022309 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under photo-morphogenesis, light is generally used for reduction of in the plants

1. Phytochromes

[

. Photon

L]

. Phytohormones

4. Photosystem

Options :

68634088149. 1
68634088150. 2
68634088151. 3
68634088152. 4

Question Number : 38 Question Id : 68634022309 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WoBTRI- ARG T FEfiRad g &1 3u=a- Uesr= gRI 81d1 82
1. TreUquis

BIeH

3. UIRUBTHA

4, YT ad

Options :

68634088149. 1
68634088150. 2
68634088151. 3
68634088152. 4
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Question Number : 39 Question Id : 68634022310 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compound light microscope uses to produce a magnified image of an object or specimen

1. IR rays

()

.UV rays
3. Visible light
4. Transmission hight

Options :

68634088153. 1
68634088154. 2
68634088155. 3
68634088156. 4

Question Number : 39 Question Id : 68634022310 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634088153. 1



68634088154. 2
68634088155. 3
68634088156. 4

Question Number : 40 Question Id : 68634022311 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Living cells in culture dishes filled with medium using standard objectives are examined through

1. Simple microscopes

[

. Inverted microscopes

s

. Compound microscopes

4, Transmission Electron Microscope (TEM)

Options :

68634088157. 1
68634088158. 2
68634088159. 3
68634088160. 4

Question Number : 40 Question Id : 68634022311 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088157. 1
68634088158. 2
68634088159. 3
68634088160. 4

Question Number : 41 Question Id : 68634022312 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1¢ a hole or opening mn an opaque mask designed to elunmate stray light from entering the light path

1. Diaphragm

| )

. Eyepiece
3. Condenser

4. Aperture

Options :

68634088161. 1
68634088162. 2
68634088163. 3
68634088164. 4

Question Number : 41 Question Id : 68634022312 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088161. 1
68634088162. 2
68634088163. 3
68634088164. 4
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Question Number : 42 Question Id : 68634022313 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 used to study the mitotic spindle fibers in dividing cells

1. Inverted microscope

| ]

. Phase contrast microscope

L]

. Compound microscope

4. Fluorescence microscope

Options :
68634088165. 1
68634088166. 2



68634088167. 3
68634088168. 4

Question Number : 42 Question Id : 68634022313 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634088165. 1
68634088166. 2

68634088167. 3
68634088168. 4
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Question Number : 43 Question Id : 68634022314 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has the maximum wavelength ?
1. Radio waves
2. UV -rays

. Micro waves

L]

4. Gamma rays

Options :

68634088169. 1
68634088170. 2
68634088171. 3
68634088172. 4

Question Number : 43 Question Id : 68634022314 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088169. 1
68634088170. 2
68634088171. 3
68634088172. 4

Question Number : 44 Question Id : 68634022315 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anther / Pollen culture was discovered for the first time by

1. IP. Nitsch (1969)

()

. Murashige and Skoog (1964)
3. S. Guha and S.C. Maheshwari (1964)

4, D.J. Heinz (1973)

Options :

68634088173. 1
68634088174. 2
68634088175. 3
68634088176. 4

Question Number : 44 Question Id : 68634022315 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.1, 9. BI (1973)

Options :
68634088173. 1



68634088174. 2
68634088175. 3
68634088176. 4

Question Number : 45 Question Id : 68634022316 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plant ecologists use to define a species-area curve for a plant commumity and to investigate
vegetation patterns mn a limited area

1. Semi quadrats

()

. Nested quadrats

Laa

. Honeycomb quadrats

4. Basic quadrats

Options :

68634088177. 1
68634088178. 2
68634088179. 3
68634088180. 4

Question Number : 45 Question Id : 68634022316 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep it <hfera & 7 arey wHerd & WS & 99 Pl aRUIYd o3 &g auT aefde wiaea & 31 8
TeY-UTRRUTIeRT AT 14 fo T Wi R 62

1. 31¢f ol snfereet (@t ®1g0)
Aed o SN (RS FI59)
e g SferenT

4. Hifeie ol wiifereT (SR $1g0)
Options :
68634088177. 1
68634088178. 2

68634088179. 3
68634088180. 4

| )

Lad

Question Number : 46 Question Id : 68634022317 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A group of orgamisms of one species living 1n a particular area at a particular tune can be termed as

1. Cluster

()

. Community
3. Kingdom

4. Population

Options :

68634088181. 1
68634088182. 2
68634088183. 3
68634088184. 4

Question Number : 46 Question Id : 68634022317 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fait & iy & U wa Y6 dIell U Weiifd & Sitdl & 998 &I 9 5 9 &1 $ed o2
LS
SR

3.3

| ]

4. SFEET

Options :

68634088181. 1
68634088182. 2
68634088183. 3
68634088184. 4

Question Number : 47 Question Id : 68634022318 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Estimates of abundance or density of plants can also be derived from

1. Transition data

()

. Line intercept data
3. Meta data
4. Aenial surveys

Options :
68634088185. 1
68634088186. 2



68634088187. 3
68634088188. 4

Question Number : 47 Question Id : 68634022318 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATEfcies FU-TdT SUal U=Ral Bl sbad 4 9 § ogad foar o gedl g2
1. TpHUT 3P g

| ]

 T5-5e30P 3ide
 Hel Hids

4. THTRIG Tdequr
Options :
68634088185. 1
68634088186. 2

68634088187. 3
68634088188. 4

[ 5]

Question Number : 48 Question Id : 68634022319 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The art and science of using plant derived essential oils to eliminate stress of modern day life 1s

1. Orchard tourism

[

. Agro tourism

. Botanical gardens

L ¥]

4. Aroma therapy

Options :

68634088189. 1
68634088190. 2
68634088191. 3
68634088192. 4

Question Number : 48 Question Id : 68634022319 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1Y Siia Ll I Id a1 ] FHTG P & [0 UTgY s WY el T4 Hal Ud fag &1
o YT Fed 82

1. ST qed

.Y weA

 gHEfd® ITH
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Options :

68634088189. 1

68634088190. 2

68634088191. 3
68634088192. 4

| ]

faa

Question Number : 49 Question Id : 68634022320 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among horticultural crops. acts as a good source of protein
1. Raulfia serpentina
2. Pisum sativum

. Solanum tuberosum

[F¥]

4. Achras zapota

Options :

68634088193. 1
68634088194. 2
68634088195. 3
68634088196. 4

Question Number : 49 Question Id : 68634022320 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & @ o I 3efe BOd Uid- o ST Eia 8

Rl FRYACIT
- HIgdH Hcledd

 HidY SJeREd
4. TERY Sdlel

[r—y

| ]

[ 5]

Options :



68634088193. 1
68634088194. 2
68634088195. 3
68634088196. 4

Question Number : 50 Question Id : 68634022321 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Parthenocarpic fruit development 1s observed in which of the following grape variety?

1. Sultania

()

. Black Monuklka
3. Black Corianth

4. Thompson Seedless

Options :

68634088197. 1
68634088198. 2
68634088199. 3
68634088200. 4

Question Number : 50 Question Id : 68634022321 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R @1 forg UaTfal H Sy w e Ui &1l 62
1. ear-ar

. T Figp]
&P BINY

4. YiOgq giseyg

Options :

68634088197. 1
68634088198. 2
68634088199. 3
68634088200. 4

[ ]

L¥¥]

Question Number : 51 Question Id : 68634022322 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The development of an F; m omon requires the development of male sterile line (A-line). an mbred maimtainer

line (B-line) and a pollinator male parent (C-line). Which of the following is correct option regarding genetic
constitution of these lines?

1. A-line (Nmsms), B-line (Smsms) and C-line (N MsMs)

[

. A-line (Smsms), B-line (Nmsms) and C-line (NMsMs)

L]

. A-line (NMsMs), B-line (Smsms) and C-line (Nmsms)
4. A-line (Smsms), B-line (NMsMs) and C-line (Nmsms)

Options :

68634088201. 1
68634088202. 2
68634088203. 3
68634088204. 4

Question Number : 51 Question Id : 68634022322 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H F,; & faerg & o0 TR §¢ @15 (A-TTS). 3d: U6ld HcR w5 (B-Te) Tul T R
RATUER] A5 (C-T5) BT HTaRIdHdl gldl o | 59 arg1 di IR =1 (9 19 I 82

1. A-tllg (Nmsms). B-¢19 (Smsms) dYTC-¢ITg(N MsMs)

| ]

. A-tIIg (Smsms), B-¢lTg (Nmsms) d¥T C-¢1lg (NMsMs)
3. A-Tlg (NMsMs), B-¢119 (Smsms) dUT C-T1I51 (Nmsms)
4. A-tIS (Smsms). B-¢lIg- (NMsMs) dUI C-¢15 (Nmsms)

Options :

68634088201. 1
68634088202. 2
68634088203. 3
68634088204. 4

Question Number : 52 Question Id : 68634022323 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In , fruit buds are borne termunally and unfold to produce leafy shoots which terminate in flower
clusters

1. Pear

()

. Walnut

. Kinnow

L]

4, Guava

Options :

68634088205. 1
68634088206. 2
68634088207 3
68634088208. 4

Question Number : 52 Question Id : 68634022323 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{4 forg o =i S-1g SfereTd ol uRis §91d & off 9 Yol / 73 1 fasd gl &id 81
1. =TTt
IR
3. Bl

| ]

4. 3TEG

Options :

68634088205. 1
686340882006. 2
68634088207. 3
68634088208. 4

Question Number : 53 Question Id : 68634022324 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under floral structure. a typical angiosperm anther 1s with each lobe having two theca

1. Bilobed

[

. Trilobed
3. Double paired

4, Tetralobed

Options :
68634088209. 1



68634088210. 2
68634088211. 3
68634088212. 4

Question Number : 53 Question Id : 68634022324 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTgIsi ol TRATHI] gidT & fored wd® & & uraRe (i) sid & |
1. fgufare
et

T g
4. Fqufeft

Options :

68634088209. 1
68634088210. 2
68634088211. 3
68634088212. 4

[ ]

%)

Question Number : 54 Question Id : 68634022325 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In megasporangium, the body of the ovule fuses with funicle in the region called

1. Integuments

[ ]

. Chalaza

. Nucellus

[F¥]

4, Hilum

Options :

68634088213. 1
68634088214. 2
68634088215. 3
68634088216. 4

Question Number : 54 Question Id : 68634022325 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TREeH H deis dieis-g 3 g a7 & Wi g
1. 3{ETAROT

PHarol
3. dioUseE

. i3] (BHaeH)

Options :

68634088213. 1
68634088214. 2
68634088215. 3
68634088216. 4

| ]

s

Question Number : 55 Question Id : 68634022326 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

deals with those heritable changes, which do not involve changes in nucleotide sequence

1. Mendellian genetics

| ]

. Modern genetics
3. Eugenetics

4. DNA methylation

Options :

68634088217. 1
68634088218. 2
68634088219. 3
68634088220. 4

Question Number : 55 Question Id : 68634022326 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
79 o 9 o 91 [doed 9 93Td geardl 9 SEiad ¢ o gfaadicrss & o0 o gaard T8l 811 82
1. 3o SFfailRipy

2. AYP ARy
3. goiicad
4, DNA HejifeH



Options :

68634088217. 1
68634088218. 2
68634088219. 3
68634088220. 4

Question Number : 56 Question Id : 68634022327 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many double crosses can be made from 'n’ number of inbreds

(n—1
n(n %
nn=-1)(n-2)

. .P?(}?—]:I(H—?.){H—B%

. n(n—l%

Options :

68634088221. 1
68634088222. 2
68634088223. 3
68634088224. 4

—

[ ]

L% ]

e

Question Number : 56 Question Id : 68634022327 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

' 3 UoITdl | fad g TaRu U ST 9&d & 2

nn—1)
. /é

. n(n—l)(_n—E%

. H(H—])(H—E){H—B'%

. n(n—l%

Options :

68634088221. 1
68634088222. 2
68634088223. 3

]

Lad

e



68634088224. 4

Question Number : 57 Question Id : 68634022328 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dormancy due to rudimentary embryos 15 observed in

1. Mango

[

. Palms

. Walnut

L]

e

. Apple

Options :

68634088225. 1
68634088226. 2
68634088227. 3
68634088228. 4

Question Number : 57 Question Id : 68634022328 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31 aftfa Yo & PR IR e e o ol e 22

1. AH

i
3. 3ERIE
4,99

Options :

68634088225. 1

68634088226. 2

68634088227. 3
68634088228. 4

2

Question Number : 58 Question Id : 68634022329 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Accordmg to scheme, annuals are arranged to the nearest wavelength colour

1. Analogous colour

()

. Monochromatic colour
3. Contrast colour

4. Blended colour

Options :

68634088229. 1
68634088230. 2
68634088231. 3
68634088232. 4

Question Number : 58 Question Id : 68634022329 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ e airet1 1 anfier g bl ey aeaenl & 301 & SR oy foham Siar g 2
1. TATETT 4
e ik
3. SR | BICRE T

4. giAfga 3

Options :

68634088229. 1
68634088230. 2
68634088231. 3
68634088232. 4

| ]

Question Number : 59 Question Id : 68634022330 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s a spray-type chrysanthemum variety suitable for making garlands

1. Topaz

-

. Pink
3. Vasantika

4, Aglow

Options :
68634088233. 1
68634088234. 2



68634088235. 3
68634088236. 4

Question Number : 59 Question Id : 68634022330 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrAfeREd 3 ®1F I [aarsd] @1 3ral a9 i 8 Wefd g2

1. T
Biscs
et
4. g

Options :

68634088233. 1
68634088234. 2
68634088235. 3
68634088236. 4

| ]

[ 5]

Question Number : 60 Question Id : 68634022331 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Jasminum auriculatum, the oil recovery of percent can be obtained
1.0.14-0.19
2.0.24-0.30

. 0.17-0.19

L%

4.0.29-0.36

Options :

68634088237. 1
68634088238. 2
68634088239. 3
68634088240. 4

Question Number : 60 Question Id : 68634022331 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR SiRiRIded 9 fha-r wia=ra Wiy o faarg 2

1.0.14-0.19

[ ]
=
[ ]

24 -0.30

.0.17-0.19

g

4.0.29-0.36

Options :

68634088237. 1
68634088238. 2
68634088239. 3
68634088240. 4

Question Number : 61 Question Id : 68634022332 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In mughal garden. a canopied building with twelve open doors 1s termed as

1. Baradari

[

. Pergola

. Terraces

L]

4, Cascade

Options :

68634088241. 1
68634088242. 2
68634088243. 3
68634088244. 4

Question Number : 61 Question Id : 68634022332 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e aFiE H aRE &R qUl B4 ardl Ha- 91 Sedldl g7
1. SRTE
BRI

 AgdY

Options :
68634088241. 1
68634088242. 2

| ]

faa



68634088243. 3
68634088244. 4

Question Number : 62 Question Id : 68634022333 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 used to improve the environment of all the areas deteriorated by developmental activities

[y

. Historical perspectives

| )

. Nature conservation

Lad

. Bio-aesthetic planning

4. Botanical gardens

Options :

68634088245. 1
68634088246. 2
68634088247. 3
68634088248. 4

Question Number : 62 Question Id : 68634022333 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faepreita Tfcfafedt & R o &5 § f6Ts uaiayo § guR 4 fod & gr1wma g°
1. Ul ufvezy
R IR AR L]

4. di<dId® gl

| ]
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Options :

68634088245. 1
68634088246. 2
68634088247. 3
68634088248. 4

Question Number : 63 Question Id : 68634022334 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



helps to protect the food agamst the deterioration caused by exposure to the air

1. Canning

| )

. Antioxidant
3. Precooling

4. Filtration

Options :

68634088249. 1
68634088250. 2
68634088251. 3
68634088252. 4

Question Number : 63 Question Id : 68634022334 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{79 I 91 fashed 115 ol 5al H TS g4 R EXd 51 9 §91dl 82
1. f&saredl

T SHfafso

g4 Siae

4. 5%

Options :

68634088249. 1
68634088250. 2
68634088251. 3
68634088252. 4

| ]

Lad

Question Number : 64 Question Id : 68634022335 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In , rapid cooling takes place dus to intimate contact between cold air and produce

1. Room cooling

2

Temg
3. Forced cooling
4. Hydro cooling
Options :

68634088253. 1
68634088254. 2



68634088255. 3
68634088256. 4

Question Number : 64 Question Id : 68634022335 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&8I 5a1d IdIg & 0D T H- R Wiy Lde ol 71 $ed 57
1. P& Xidqa

fedimo

. & fida

4. §q gfiqe

Options :

68634088253. 1
68634088254. 2
68634088255. 3
68634088256. 4

| ]

[ 5]

Question Number : 65 Question Id : 68634022336 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In physical hazard. foreign objects could be identified by
1. Xrays
2. Niacin

. Preservatives

]

4. Chemical analysis

Options :

68634088257. 1
68634088258. 2
68634088259. 3
68634088260. 4

Question Number : 65 Question Id : 68634022336 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wi Tebe / §TS H aTel IxqU -4 b8 & GRT Ug =il off Jebdil 57
1. X faxof

REUIEE|

ORRE T g

4, TS fageyo

Options :

68634088257. 1
68634088258. 2
68634088259. 3
68634088260. 4

[

L]

Question Number : 66 Question Id : 68634022337 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Jack bean seeds are found to be composed of amino acid 'canavanine'.

Reasons R: Canavanine resembles arginine in structure and interferes with the metabolism of arginine.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 15 correct but R 1s not correct

4. A 1s not correct but R is correct

Options :

68634088261. 1
68634088262. 2
68634088263. 3
68634088264. 4

Question Number : 66 Question Id : 68634022337 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634088261. 1
68634088262. 2
68634088263. 3
68634088264. 4

-J
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Question Number : 67 Question Id : 68634022338 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In hot countries viz.. Asia and Africa. the people are of optimum dark complexion.
Reasons R: The working efficiency of human tends to depend upon the climatic conditions

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A 1s not correct but R is correct

Options :

68634088265. 1
68634088266. 2
68634088267 3
68634088268. 4

Question Number : 67 Question Id : 68634022338 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- B P ST §, TP HTUHUA (Assertion A) P $U T [ARAT 8 T S8R 3HD BRI (Reason R)&H Y
i
@Y A TR quT bl o T <o § @ gigd gid g |
BRI R: T ] BRI &0dl Sadrgd iy Rufqal ¥ iR it g
QWIS YT & Tl H, - fqu MU fadedl § 9 99 Sugad ok &1 99 Biferd
1. A SRR A T8I 8 3R R, A DI Ug BT ©
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AGEIEAfPTIR GRS ©
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Options :

68634088265. 1
68634088266. 2
68634088267. 3
68634088268. 4

-J
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e

Question Number : 68 Question Id : 68634022339 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Conducting cells m the xylem enables the transport of large quantities of water with great
efficiency.

Reasons R: Functional water-conducting cells have membranes and no organelles.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

()

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 15 correct

Options :

68634088269. 1
68634088270. 2
68634088271. 3
68634088272 4

Question Number : 68 Question Id : 68634022339 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- B P ST §, TP HTUHUA (Assertion A) P $U T [ARAT 8 T S8R 3HD BRI (Reason R)&H Y
T

MUHY A: TTOTH B YaTeD DIRIDIU Gafdl U P A1 H o B FH— Hdl 6|
HRUTR: UHAI@E oic-Hde 121l 7§ [ il 8 U= SIS 81 i |
SIS Y & HTale H, - fqu T fadedl § 9 99 Sugdd 9ok &1 99 BHIfAT.

1. AR R EFI H8I § SRR, A DI Ug! IRAT B

. A SRR EHTUET 8 3R R, A F U oure AT &
AGEIEAfPTIR GRS ©
AT RIS APIRIE &

Options :

68634088269. 1
68634088270. 2
68634088271. 3
68634088272. 4
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T

e

Question Number : 69 Question Id : 68634022340 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: In light microscope. objective lens collects light diffracted by the specimen and forms a
magnified real image.

Reasons R: Condenser lens focuses light from the illumimator onto a larger area of the specimen.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

()

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A 1s not correct but R 15 correct

Options :

68634088273. 1
68634088274. 2
68634088275. 3
68634088276. 4

Question Number : 69 Question Id : 68634022340 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- B P ST §, TP HTUHUA (Assertion A) P $U T [ARAT 8 T S8R 3HD BRI (Reason R)&H Y
T

3P YA A: UPTRIT YeHexil § sfiewas oF W gRI fdafdd W 31 UhiAd &R Jaidd arifas
gfdfets sTaT 8 |
@RI R: YATE! ¢4 UaIYd 4 YT &I WA & iU &% IR bi-sd Hdl o
ORI YT & ATl H, - fqu MU fadedl § ¥ 969 I9gdd ok &1 99 Bifoly
1. A SRR EH HI 8 AR R AT Hol AR &

A 3R R EH 6T € 3R R, AP el 78] aurem g
ATEIEAPTIR TR ®
4 AT TR e APIR TRl

Options :

68634088273. 1
68634088274. 2
68634088275. 3
68634088276. 4

)
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Question Number : 70 Question Id : 68634022341 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: Prokaryotic ribosomes consists of 508 and 308 subunits that combine to form 708 ribosomes.
Reasons R: Eukaryotic ribosomes consists of 605 and 40S subunits that combine to form 90S ribosomes.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s true but R 1s not false

4. A 1s false but R 1s true

Options :

68634088277. 1
68634088278. 2
68634088279. 3
68634088280. 4

Question Number : 70 Question Id : 68634022341 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



;ﬁﬁ‘cﬁwﬁnm 2. U HUHYUT (Assertion A) B 9 H [IRET ¢ Tl THI FHD BRI (Reason R)& U
BT A UTaH-5| ASEMH H 508 TUT 308 SUSHISAI 6Id! & &1l 708 AZEIH 101 6 |
HRU R GUHdgH! Ugadi H 60 dUT 408 SUSHISUT 8l & ol 908 JSEGH g 2|
QWIS YT & Tl H, - fqu MU fadedl § 9 99 Sugad ok &1 99 Biferd

1. ASIRREFI A § IR R. A P! HgI UA &
ARREH FUE SR R, AP TE! ORA 81 &
ATARAFIR A&

4. AT E AfPIRTT S

-J

L]

Options :

68634088277 1
68634088278. 2
68634088279. 3
68634088280. 4

Question Number : 71 Question Id : 68634022342 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Contour system minimizes land erosion and so1l moisture deficit including slope fit for
plantation crops.

Reasons R: Contour line regulates the water flow through irrigation channel and water penetration without
soil erosion.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

()

. Both A and R are true but R is NOT the correct explanation of A

. A 1s true but R 1s not false

Lad

4. A 1s false but R 1s true

Options :

68634088281. 1
68634088282. 2
68634088283. 3
68634088284. 4

Question Number : 71 Question Id : 68634022342 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- B P ST §, TP HTUHUA (Assertion A) P $U T [ARAT 8 T S8R 3HD BRI (Reason R)&H Y
T

HUHYA A: Well B TGO Uga Y &R0 qUT gal §d A B1 B8 Bl § ddl ©-etH Bl &
foru Sfaa e Ta@r gl

HRUI R: Y] Rarg &1 Arferdl 8§ O & dgid quT -1 Gl &R0 od W% &1 Fafd axal g
SWRIdd B & aid J, 1= [GU T fae el & 9 98t Ia¥ &1 904 DI .
ASRRIF TAE IR R AP T TRAT T
ARREH 9 € SR R, A P! UE! R 18l &

ATTE APIR ST

4. AT e AfPTIRTT S

[y

)

Laa

Options :

68634088281. 1
68634088282. 2
68634088283. 3
68634088284. 4

Question Number : 72 Question Id : 68634022343 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: HACCP is an expensive approach to food safety and product quality.

Reasons R: Various quality management systems like TQM and ISO can be easily mtegrated with HACCP.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R 1s not false

4. A 1s false but R is true

Options :

68634088285. 1
68634088286. 2
68634088287. 3
68634088288. 4

Question Number : 72 Question Id : 68634022343 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- B P 3T Y §, TP ATHHUA (Assertion A) P $U T [ARAT 8 o1 GERT 3HD BRI (Reason R) B U
T

HTYSHYT A TTE Y& UG TS 0radl 19T B & [T HACCP U Jg71 f[dhed g |

HRUIR: TQM TUTISO SIY TUMETT Ya=H a7 HACCP & 91y Y9-afid el o 9 § |
SWRidd B & s J, 1= [GU T [9P el & 9 9at 3a¥ &1 904 DT

1. ASIRREFI A § IR R. A P! HgI UA &
ARREH FUE SR R, AP TE! ORA 81 &
ATARAFIR A&

4. AT E AfPIRTT S

-J

L]

Options :

68634088285. 1
68634088286. 2
68634088287. 3
68634088288. 4

Question Number : 73 Question Id : 68634022344 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below identify those statements which relate to TCA cyele.

A Pyruvate directly enters into TCA cycle after conversion to acetyl-CoA

B. Pyruvate 1s converted to acetyl-CoA by the pyruvate dehydrogenase complex
C. Succinate 1s hydrolyzed to fumarate by the action of succinate dehydrogenase
D. Condensation of acetyl-CoA with oxaloacetate to yield citrate

E. GTP 1s synthesized during hydrolysis of the suceinyl-CoA to yield sucemate

Choose the correct answer from the options given below:
LA Band C
2.B.DandE
3.C.DandE

4 A CandD

Options :

68634088289. 1
68634088290. 2
68634088291. 3
68634088292. 4



Question Number : 73 Question Id : 68634022344 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfREd d TeA ¥ Haltfd &1 4 are 87

A, TRIfed-coa © uialdd 89 IR ursede UiY TcA 9% § UdW 3l &

B. TI5%dc SIgSol-Y HIEHay gRI disede URifed-CoA H URafdd siar g |
C. FHRIE SEESi-4 gRI JaH-e WHEE § od HTfed 8id ¢ |

D. TRTeT CoA 1 SHTRITITHICE D Y SS9 o Frgee Hears |

E. Y1 -CoA & Od 39764 ¥ Y He &4l § aul GTP HLAYUl 8ldl 6

I feu v faedl § O Tel SOx & I8 Hifort - |
1. Pad A, B3R C

Pad B, D AR E

.$adC, D HRE

4. Had A, C IR D

Options :

68634088289. 1
68634088290. 2
68634088291. 3
68634088292. 4

[ S

L

Question Number : 74 Question Id : 68634022345 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the list given below identify those statements which relate to population attributes i ecological studies.

A. A group of individuals from asexual reproduction 1s not considered as population

B. Both population and individual orgamsm have certamn attributes

C. Sex ratio 1s an essential attribute characteristic of a population

D. Status of population growth 1s reflected through the shape of pyramids

E. Population density is the technical representation of population size that is designated as N

Choose the correct answer from the options given below:

1. ABandC

()

.B.CandD
3.A CandD

4. C.Dand E

Options :
68634088293. 1
68634088294. 2



68634088295. 3
68634088296. 4

Question Number : 74 Question Id : 68634022345 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafead ¥ 31 aredl 1 9ai-id B o UIRIRUTAS sieree o S8 & ol § Hafifd &

A. T IoFH O S UHE &1 wAP T8 aFd B

B. YA qUI Y oild § $S U 6ld o |

c. it mf® &1 e 3T 39 Sfiaefe o sl g |

D. foedt gufd ot 9gd 39& RIS & M$R T gal Iad! |

E. JHP U9 JHP ATPR BT dH-1d! FRe0s & o8 N gRT ST S1d1 2

i 40 70 [ddedl | ¥ 9ol 398 & 994 BT ;
1. A, B 3R C
2. ®adB. C 3R D
3. PIdA. C IR D
4. %A C,D AR E

Options :

68634088293. 1
68634088294. 2
68634088295. 3
68634088296. 4

Question Number : 75 Question Id : 68634022346 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the list given below identify those statements which relate to biosynthesis of cytokinins,

A Cytokinins deregulate the cell division in shoots and roots

B. Precursors for formation of isoprene structures are mevalonic acid or pyruvate plus 3-phosphoglycerate
C. Cytokinins from the root are transported to the shoot via phloem

D. ipr gene catalyzes the first step in cytokinin biosynthesis

E. Free cytokinins are rapidly metabolized to their nucleoside or nucleotide forms

Choose the correct answer from the options given below:

1. ABandC

()

.B.Dand E

JJACandD

4 C.Dand E



Options :

68634088297. 1
68634088298. 2
68634088299. 3
68634088300. 4

Question Number : 75 Question Id : 68634022346 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TrgeiaTg = ot olg GReyu § Fefifd e oF g

A, TEEI@HEAA oS aur a4 § @ fGureH &1 i afia s 2

B. HEIUH 134! % Jdad| Haai-e ST SUa qgwac quT 3-Biesiierase aid ol

C. 58 9 7l I Higcioplg=- Wity & H1egd 9 Ugdi g

D. YISeIHIE(A old UIATUI & WYH 07 &F ipt o Soifd TR o

E. g Hgcidpigi- Y- Ffadss udl Jaadicrss 49 5 e SUM=id 81 S 6 |

- feg 1 faoedt # ¥ Het SR o1 =994 Sifoe -
1. $ad A B 3R C

. BAdB, D ARE

. $Ad A, C 3R D

4. a4 C, D IRE

Options :

68634088297. 1
68634088298. 2
68634088299. 3
68634088300. 4

[ ]
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Question Number : 76 Question Id : 68634022347 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Green light in the middle of the visible light spectrum is not absorbed by plants efficiently. and 1s
reflected back to the eyes.

Statement II: Chlorophyll absorbs red light in wavelength of 370-430 nm very strongly.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :



68634088301. 1
68634088302. 2
68634088303. 3
68634088304. 4

Question Number : 76 Question Id : 68634022347 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B EAIERCARI o

HYF [ T YHIRI D WaeH & Heh H 52 HHT< &I afl gl gRT S/a=nfid Tl gl Ut § au1 331 &1
RIafid Bl |

FYA 11: T0f 8 370-430 nm & AT THTY B RIS B HfHE @eied Hd 2l
JWRITT HUA & 3Tcid I, A TG0 T8 fadbedl © U Yl 3 &1 999 BI9lU:
1. HYFIAR 1A IA 8

-J

HYT1 AN I SH T
3. DU 1 9 &, difch hUH 11 38 ¢

4. PYT1 I 8. APT FYT I TT ©

Options :

68634088301. 1
68634088302. 2
68634088303. 3
68634088304. 4

Question Number : 77 Question Id : 68634022348 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From the list given below 1dentify those statements which relate to nutritive value of horticulture crops.

A. Sea cod 1s the highest source of carotene

B. Avocado 1s the richest source of fat among fruits

C. Almond comprises the richest source of fat

D. Guava 1s the richest source of fibre among fruits

E. Sweet potato 1s the richest source of carbohydrate among vegetables

Choose the correct answer from the options given below:
lLA.Band C
2.B.Dand E
3.A,Cand D

4, C.Dand E

Options :

68634088305. 1
68634088306. 2
68634088307. 3
68634088308. 4

Question Number : 77 Question Id : 68634022348 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & 9 o 9 g SIS Bydl 31 Ulve Ol & fdwa 4 g2

A Fﬂgﬂw%&ﬁﬂﬁ Had @I FA 5l

B. Fdl § Uai@TS! a9 & a9 331 9id ¢

C. SIEH a9 HT a4 ST Iid ¢

D. Bl H 3HFe W & a8y 3= 9d ¢

E. feard § Iaxdie Paeege & Uay SIS A g

i 30 70 f[ddedl H ¥ 9ol 398 & 994 Bl ;
1. A, B 3R C

®ad B, D AR E

PAAA, C IRD

4. ®ad C,D AR E

Options :

68634088305. 1
686340883006. 2
68634088307. 3
68634088308. 4
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Question Number : 78 Question Id : 68634022349 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below identify those statements which relate to dry flower arrangement.

A Potpourr: mcludes the mixture of sweet scented floral plant parts
B. For commercial foliage preservation, glycerine method 1s followed
C. Skeletonizing 1s done for Ficus religiosa

D. African marigold is oven dried at 45-49° C for 72 hours

E. French merigold is oven dried at 45-49° C for 96 hours
Choose the correct answer from the options given below:

1.A.BandC

| )

.B.Dand E
3JA CandD

4 C.Dand E

Options :

68634088309. 1
68634088310. 2
68634088311. 3
68634088312. 4

Question Number : 78 Question Id : 68634022349 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 & 9@ el & v 9§ daftid sH Jaa |
A, i O3 o geat & fafim e &1 iy g |
B. AfUTtoue quf SHE IRRAT Wi ol @ H1a g
C. Blgey Riesid™ & wWhalears o & Sl gl
D. WIS TIaT 45-49° C TR 72 U< T 3o & a1 oiral 5 |
E. U5 g 1a] 45-49° C TR 96 ©¢ Ga [ H F@al oIl § |
1= fdu v fasedl 7 9§ Hel SR &1 98- BIfo .
1. PaAA A, B3R C
. &ad B, D ARE
3. ®ad A, C ARD

4, HAAC,D IRE

Options :
68634088309. 1
68634088310. 2
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68634088311. 3
68634088312. 4

Question Number : 79 Question Id : 68634022350 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the list given below 1dentify those statements which relate to food spoilage.

A. Scarlet fever 1s due to spoilage by Saccharomyces

B. Mycotoxins are produced by a variety of fungi

C. Toxin prussic acid 18 present in walnut

D. Low sugar products can be spoiled by Saccharomyees
E. Foods with salt content can be spoiled by moulds

Choose the correct answer from the options given below:

1. ABandC

| ]

.B.Dand E
3.A CandD

4, C.Dand E

Options :

68634088313. 1
68634088314. 2
68634088315. 3
68634088316. 4

Question Number : 79 Question Id : 68634022350 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o ®1= 3 o @ fasfa 9 defifa g
A TPTeC SR HaRMIS Y gR1 [aed S giar ol

B. [dl@ Pa®i gRT Had1idy IdIGd gld o |

C. 3RERIe H Y 3 Ay (@) 9 S g
D. 5 91 IcTg Semrgdie & gRI faed gld 5 |
E. TIqUIg W Bhal & gRI {93 81d 8

i 30 70 f[ddedl H ¥ 9ol 398 & 994 Bl ;
1. A, B 3R C
2. ®ad B, D IR E
3. %ddA, CIRD
4. ®ad C,D AR E




Options :

68634088313. 1
68634088314. 2
68634088315. 3
68634088316. 4

Question Number : 80 Question Id : 68634022351 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Glucose acts as a common sugar in polysaccharides and forms two main families of
carbohydrates.

Statement IT: Many of the common polysaccharides comprise single type of sugar groups, hence are termed
as heteropolysaccharide.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

()

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT 1s incorrect

4. Statement I is incorrect but Statement IT 1s correct

Options :

68634088317. 1
68634088318. 2
68634088319. 3
68634088320. 4

Question Number : 80 Question Id : 68634022351 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIECICRIEREURIIS
T I DI THI TDISS b HHH H1A Sl § U PIEEESE P &l Y TSR a1 g |
HYA I1: PR T TgUDHSS I Uhd DI HE 81d 6. 3d: 56 el agUdss Hod o
SURIGT Y & 3fTaie H, i fQU U fdeti & 9 T Iuged 9o &1 98 I
1. P 1 3R 11 ST Wl &
 BYA 1 R I GHT T &
3. DY 1 UBI 6, Al BYH 11 7Ted &
4, Y 1 TTCd 5, Wi DU 51 ©

Options :
68634088317. 1

-2



68634088318. 2
68634088319. 3
68634088320. 4

Question Number : 81 Question Id : 68634022352 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Brief periodic exposure to sublethal heat stresses often induces tolerance.

Statement II: In plants, adaptation to heat stress 13 mediated by cytosolic caleium.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT 1s incorrect

4, Statement I is incorrect but Statement IT 1s correct

Options :

68634088321. 1
68634088322. 2
68634088323. 3
68634088324. 4

Question Number : 81 Question Id : 68634022352 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- 3 By RU L §:
FUA I SIS I 719 BT T ATl A W FiewE Uid Sdi g
S 11: UiY T I GG & Ui D e SifRisiidad! Seriigd gRI d gl g |
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1. Y1 3R 11 GHT TET T

HYTI ARSI Tad &
3. FYT1 96l 8, Al HYF 1 TTad ©
4. YT 170 &, Afe HYT 11 T8l &

-J

Options :

68634088321. 1
68634088322. 2
68634088323. 3
68634088324. 4



Question Number : 82 Question Id : 68634022353 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Nicking 1 found to be effective in the inhibition of floral shoot.

Statement II: Nicking practice limits the concentration of carbohydrates in the bud and reduces water and
nitrogen supply to plant.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

()

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but Statement IT 1s correct

Options :

68634088325. 1
68634088326. 2
68634088327. 3
68634088328. 4

Question Number : 82 Question Id : 68634022353 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIECICRIEREURIIS
B 1. [T guiig a1 &1 g ol g
&Y 11: AT DT O Pelelgge &1 Higdl dIed HIdl ¢ aUl d Ud ATl 1 3MYfd 9Tl
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4. B 1TETd 5, AT BYUH 11 FE1 &

Options :

68634088325. 1
68634088326. 2
68634088327. 3
68634088328. 4
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Question Number : 83 Question Id : 68634022354 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Periclinal chimera are most common and relatively stable chimera type.

Statement I1: Tissue of single genetic composition occur as a relatively thick skin with one or two cell layers
over a genetically different core.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

()

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT 1s incorrect

4, Statement I is incorrect but Statement IT 1s correct

Options :

68634088329. 1
68634088330. 2
68634088331. 3
68634088332. 4

Question Number : 83 Question Id : 68634022354 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR EREUEI S
DY 1. IRAITTS SHISART Ta8 IH dYT fRR UHR & S5 6

DY I1:USHd SAIRIP Fued & FHdd U SHIdiRISd: [ SR IR U 34ydl I SIfB13( o Rl ot
et firfey / s & =0 & urft ol B

SWRIGd Y & Tl H, = f3u MU fadbedl § ¥ 969 I9ged ok &I 999 HIfT.
1. BY1 AR 11 S Tel &

-J

HYFI ARG Tad &
3. PYTI el 6. afT Sy Ted §
4, BYF 1T 8. AfbT HYT I T8 ©

Options :

68634088329. 1
68634088330. 2
68634088331. 3
68634088332. 4



Question Number : 84 Question Id : 68634022355 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Most adaptations have evolved through long evolutionary time and are fixed genetically.
Statement I1: In Opuntia, the flattened stems preform the activity of photosynthetic functions.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true

Options :

68634088333. 1
68634088334. 2
68634088335. 3
68634088336. 4

Question Number : 84 Question Id : 68634022355 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Rum e
TYA I HUPR DA U o fahri H1d A 9o Rid Bid & adl Sdied: IRl 8id 6|
BYUA 1. AU H YT Hewul i fohar 9uc a4 H gl 5|
QR FYF & TS 1, Aid (G0 0 A edl § 9 el 3o &1 944 I
1. FY 1 R 1 EH I &

2. BYFI SR N SH 3§
3. BYTI 9T B, AT HYT I 3TT ©

4 P HTI L. AT YT I Id §

Options :

68634088333. 1
68634088334. 2
68634088335. 3
68634088336. 4

Question Number : 85 Question Id : 68634022356 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are steps n air layering.

A. 2-3 inch bark 15 removed from the stem to perform girdling.

B. The exposed part 1s covered with moist sphagnum moss.

C. The sphagnum moss 1z covered with a square piece of polythene which is tied at both ends to prevent
drymg.

D. The stem 1s planted in coarse sand such that at least 3 nodes are embedded and 2 nodes remain above the
ground.

Choose the most appropriate answer from the options given below:

1.B.C & D only
2.A.B & Conly
3.A.B&Donly
4.C.D & A only

Options :

68634088337. 1

68634088338. 2

68634088339. 3
68634088340. 4

Question Number : 85 Question Id : 68634022356 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 1 ¥ A R (EH & RUSH I 82

A TTSIET 8 a9 WR 2-3 39 &1 Bd gelg Wl g
B. d YN I 318 Th3H A9 91 9 |
C. TS ThUH A1 U1 $I Il & TR s I 6@ B 34 aHl ARl R ate fores 98 g@

D.E%Wﬁ%ﬂﬂﬁﬁﬁﬁﬂﬁ'ﬁ Tié g & A< d al 71é 9ds & SR ol
1= fduu faeeal ¥ 9 a9 Iugad SR &1 98- B |

1. PadB, C 3R D

2. dad A BARC

3. Pad A. B 3R D

4. %ddC, D 3R A

Options :

68634088337. 1
68634088338. 2
68634088339. 3
68634088340. 4




Question Number : 86 Question Id : 68634022357 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sulphuring 1s mostly performed in vegetables.

Statement II: Case hardening is the problem in dehydration of products.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4. Statement I is false but Statement IT is true

Options :

68634088341. 1
68634088342. 2
68634088343. 3
68634088344. 4

Question Number : 86 Question Id : 68634022357 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR FE R
B I: Yeb T FHIG: "iewdl o fbar |rar g |

HY 1L I8 B3R (Hold R0 & 36! § G ¢ |
QRIS Y & ATl H, - fqu MU fadeal § ¥ 9ol SR &1 991 Hifu.
1. PYF1 3R IaF Td 8

)

HYF1 IR I EH T
3. PYTI 9 o, fhT BUTII ST ©

4, PYTI I8, APTFUT I TT ©

Options :

68634088341. 1
68634088342. 2
68634088343. 3
68634088344. 4

Question Number : 87 Question Id : 68634022358 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Consider the following statements with respect to structural polysaccharides in plants

A Polysaccharide comprises around 90% of the structural material of cell walls of all higher plants.

B. A single glucagon fibre consists of 300-400 glucan chains held together by a huge number of hydrogen
bonds.

C. Pectins can be easily extracted with hot water and have igh importance in food mndustry.

D. Many forage legumes grown under tropical climate are found to have saponins.

E. Protopectin has more COOH group esterified than in the middle lamella.

Choose the correct answer from the options given below:
1. A, B and C only
2.B.C, and E only
3.B.D and E only

4. A, C and E only

Options :

68634088345. 1
68634088346. 2
68634088347. 3
68634088348. 4

Question Number : 87 Question Id : 68634022358 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fa1 areal &1 Uiel § SRETES agudss] & Yed B UE

A. I UIgH 9 1 SRRy O SREFS 5od 90% SgIHRIgS 6ld ¢
B.ﬁ@ﬂﬁﬁﬁﬂﬂﬂ-%ﬂ@ﬁ%ﬁﬁﬁﬁﬁ@?ﬁ%ﬁﬁ S9! Ul | glggle s I 9s! gidl
|

C. UfGe & ofd 9 Feniid f6d o w@d § quT @ S9i H afds 7ew 39 ¢ |
D. IUI Werarg o 31 o ardt SHfehar gl 9 o JYI-H uran Sl |
E. Te0 yefareT @t sl Mefaes s cooH ¥Hg Teddd 8id o

i fU 70 fJadhedl § U Tol 3T &1 90 Bl -
1. FaT A, B AR |

Pad B, C, ARE

_PTAB, D HRE

4 Bad A, C HRE

Options :
68634088345. 1
68634088346. 2
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68634088347. 3
68634088348. 4

Question Number : 88 Question Id : 68634022359 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements relates to salimty stress in plants

A. Transgenic Arabidopsis and potato plants overexpressing the gene that encodes AtNDXT exhibit
enhanced water stresss tolerance.

. Salt injury involves both osmotic effects and specific 1on effects.

. Ton inclusion 1s crueial for acclimatisation and adaptation to water stress.

. Sodium 1s transported across the plasma membrane and the tonoplast.

. Energy - dependent transport (efflux) of Na+ from the cytosol of plant cells across the plasma membrane
is mediated by the gene product of the SOSI.

sl w i vs)

Choose the correct answer from the options given below:

1. A, B and C only

()

.B.Cand E only
3.B.D and E only

4. A, C and E only

Options :

68634088349. 1
68634088350. 2
68634088351. 3
68634088352. 4

Question Number : 88 Question Id : 68634022359 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. PAd A, B AR C

2. $AdB, C IR E

3. %ddB,D 3RE

4. HAA A, C IR E

Options :

68634088349. 1
68634088350. 2
68634088351. 3
68634088352. 4

Question Number : 89 Question Id : 68634022360 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. RFLPs markers are co-dominant in their inheritance

B. SNPs are co-dominant in their inheritance

C. RAPDs are domimant in their inheritance

D. RAPDs uses radio 1sotopes

E. RFLPs and RAPDs are considered as first generation molecular markers.

Choose the correct answer from the options given below:

1. A. B and C only
2.B. C and E only
3.B.D and E only
4. A, C and E only

Options :

68634088353. 1

68634088354. 2

68634088355. 3
68634088356. 4



Question Number : 89 Question Id : 68634022360 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FoddsHaamaas?

A.RFLP g 310t gumifa & gauHet §1

B. SNP 30! 3Ifd H IHuHE 2

C. RAPD SO gRIFT 8 Ui uyTd! (3= B

D. RAPD Yfaiedf e (3msgiery) &1 uarm &id o |

E. RFLP YT RAPD &I WYH Uig! & uifds® e AT 8|

I fAu U faedl © T gl 39 &1 98- Hiforu .
1. Pad A, B3R C

PaA B, C ARE

.$dd B, D HRE

4, BAAA, C 3R E

Options :

68634088353. 1
68634088354. 2
68634088355. 3
68634088356. 4

[ S
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Question Number : 90 Question Id : 68634022361 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements under population interactions which are true

A. Prey species have evolved several defenses to enhance the impact of predation

B. Fitness of one species significantly lower m the presence of other species

C. Parasites evolved to be host-specific and tend to co-evolve

D. Comumensalism 1s an interaction of two species where one 15 benefitted where as the other 13 neither
harmed nor benefitted

Choose the most appropriate answer from the options given below:

1. A. B and C only

()

.B. C and D only
3.A.Band D only

4.B. D and A only

Options :
68634088357. 1
68634088358. 2



68634088359. 3
68634088360. 4

Question Number : 90 Question Id : 68634022361 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR Sl § SrEd B 9 o 99 87
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PIAA, B IRD

4. %IAB, D AR A

Options :

68634088357 1
68634088358. 2
68634088359. 3
68634088360. 4
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Question Number : 91 Question Id : 68634022362 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A JAuxins I. |Delay senescence of leaves
B. |Cytokinins II. |Ripening hormone
C. |[Ethylens I11. [Retardant
D. |Paclobutrazol | IV [Rooting Hormone
Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV
2. A-IV, B-II, C-III, D-I
3. A-IV. B-1, C-II, D-III

4. A-IIIL B-1. C-IV. D-1I



Options :

68634088361. 1
68634088362. 2
68634088363. 3
68634088364. 4

Question Number : 91 Question Id : 68634022362 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 =1 11 8 o Sifeg

Tl 1 T 11
BIEEE] I [afal o Siolar 5 fae

rseidEi-a | 1L [ged eRaE
ERIEISIE] 1L [HG® gIAH

Uelisderara | IV. [t gRaH
frafeRad faeedl O I Tgl 3Tk &1 =0 SIfe -

1. A-I. B-II. C-III. D-IV

ofo[=[>

)

CA-TV, B-II, C-II1, D-I

CA-TV, B-1, C-II. D-III

Lad

4. A-III. B-1. C-IV, D-II

Options :

68634088361. 1
68634088362. 2
68634088363. 3
68634088364. 4

Question Number : 92 Question Id : 68634022363 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements under physiological basis of rooting which are true

A. Status of calcium and nitrogen 1s associated with vigorous root proliferation
B. Auxin level is closely associated with adventitious rooting of stem cuttings
C. Status of CHO and N 1s associated with vigorous root growth

D. Rooting co-factors with organic compounds influences rooting

Choose the most appropriate answer from the options given below:

1. A, B and C only

[ )

.B. Cand D only

.A. B and D only

[ ¥]

4.B. C and A only

Options :

68634088365. 1
68634088366. 2
68634088367. 3
68634088368. 4

Question Number : 92 Question Id : 68634022363 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ol & Yreuig YR 9 Yafid &1 ¥ o 9 g7

A. DICRITH qUT ATZeIo &I &R Jd YRGS g

B. ST 1 &R - B dheM & sqeie Heilafi 9§ wrf2d g |

C. CHO TYT N &1 &R 34 4d i< I TafAd gl
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1. A A, B 3R C

 Hdd B, C 3R D

. $adA A, B3HRD

4. HAAB, C 3R A

Options :

68634088365. 1
68634088366. 2
68634088367. 3
68634088368. 4
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Question Number : 93 Question Id : 68634022364 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Consider the following statements under fruit and vegetable processing which are true

A Strawberry and raspberry are soft fruits used as preserve
B. Fermentation in preserve is due to insufficient sugar

C. Stickiness in preserve is due to consistency of syrup

D. French fries are frozen potato chips

Choose the most appropriate answer from the options given below:

1. A, B and C only

[ )

.B. C and D only

L]

.A B andD only

4.D. C and A only

Options :

68634088369. 1
68634088370. 2
68634088371. 3
68634088372. 4

Question Number : 93 Question Id : 68634022364 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al 3N Yool YEh0] I Giafd & 9 919 I8l 87

A, e qu1 vadl B0 GaR B & o Jed & J9IRT STl § |
B. IX&8 H 30Tl Yhal & DRU| favad i gl

. IXe8 H fea iy Tr o @ SR & SR g g

D. %59 WTs WhIoid g & (IS 8ld 5

1= fdu U [9eedl § 9 9ad Iugdd Sk &1 98- BIfod: |
1. Pad A B3R C
2. ®ad B, C ARD
3. PIAA.BIRD
4, %ddD, C 3R A

Options :

68634088369. 1
68634088370. 2
68634088371. 3
68634088372. 4




Question Number : 94 Question Id : 68634022365 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Cell Structure) |(Function / Pathway)
A |Chloroplast I. |Protein synthesis
B. |Celia and flagella| II. [TCA cycle
C. [Ribosomes II1. [Photosynthesis
D. PMitochondria IV. Movement

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-1. D-II

(R

CA-L B-IIL, C-IV. D-III

CA-TV, B-1, C-IT1, D-II

[F¥]

4. A-II. B-III. C-IV. D-I

Options :

68634088373. 1
68634088374. 2
68634088375. 3
68634088376. 4

Question Number : 94 Question Id : 68634022365 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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frafertad faweal & ¥ 96l SR &1 90 S :

1. A-ITL. B-IV, C-1. D-II
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CA-TV, B-I, C-II1, D-II
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4. A-I1. B-I11, C-IV, D-I

Options :
68634088373. 1
68634088374. 2



68634088375. 3
68634088376. 4

Question Number : 95 Question Id : 68634022366 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Ecology I. |Photosynthetic algae
B. |Producer II. |Bacteria and fungi
C. |Biomass I11. |Standing crop
D. [Reducer IV. [Food chain

Choose the correct answer from the options given below:

1. A-IIL, B-IV, C-I, D-II

| ]

CA-L B-ITL, C-IV. D-III

CA-IV, B-1, C-II1, D-II

L]

4. A-II. B-IIL. C-IV, D-I

Options :

68634088377. 1
68634088378. 2
68634088379. 3
68634088380. 4

Question Number : 95 Question Id : 68634022366 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 o1 9= 11 ¥ e sifey
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FEfaRad e edl § 9 9ol 3 &1 994 S0

1. A-IIL. B-IV, C-1. D-II

[ ]

CA-L B-ILL C-IV. D-III

CA-IV, B-1, C-II1, D-II

Ly ]

4. A-IT. B-II1. C-IV, D-I

Options :



68634088377. 1
68634088378. 2
68634088379. 3
68634088380. 4

Question Number : 96 Question Id : 68634022367 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTIT
. |Glyphosine I. |Sugarcane ripening agent
Maleic hydrazide] 11 |Growth inhibator
MNorphactins II1. [Water stress
. JAbscisic acid IV. |Chlorfurecol

o|o|w|=

Choose the correct answer from the options given below:

1. A-IIL, B-IV, C-I, D-II

| ]

CA-L B-II, C-IV. D-III

. A-IV, B-1. C-I1II, D-II

T

4. A-II. B-IIL. C-IV, D-I

Options :

68634088381. 1
68634088382. 2
68634088383. 3
68634088384. 4

Question Number : 96 Question Id : 68634022367 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-ITL. B-IV, C-1. D-II

[ ]

CA-L B-ILL C-IV. D-III

CA-IV, B-1, C-II1, D-II

L V]

4. A-IT. B-II1. C-IV, D-I

Options :

68634088381. 1
68634088382. 2
68634088383. 3
68634088384. 4

Question Number : 97 Question Id : 68634022368 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A |Interphase I. PMovement of chromosomes to poles
B. |[Telophase II. |Cell plate formation
C. |Anaphase I11. |Spindle tubules appear
D. PMetaphase IV [Resting stage

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

| ]

CA-IL B-IILL C-IV, D-I

CA-ITL B-IL C-IL D-IV

LIF¥]

4. A-IV. B-II. C-I. D-III

Options :

68634088385. 1
68634088386. 2
68634088387. 3
68634088388. 4



Question Number : 97 Question Id : 68634022368 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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UHTER( TS | T [des =1 229 gl
eTaed / HeTh | IV, [fasifs /IR aaen

fFafaRad fasedl O U Ut IR &1 994 S

1. A-I, B-II. C-IIL, D-IV

ofow]x

[ ]

CA-IL B-II1, C-IV, D-I

A-IIL B-IL. C-1. D-IV

faa

4. A-IV. B-IL. C-I. D-III

Options :

68634088385. 1
68634088386. 2
68634088387. 3
68634088388. 4

Question Number : 98 Question Id : 68634022369 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
E.=tinol I. [Fenugreek leaves
Tocopheral 1I. Pvandarin
[FEiboflavin IT1. [Pumpkin
Ascorbic acid | IV |Avocado

REE

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

| ]

CA-L B-IIL, C-IV. D-III
3. A-IV, B-1. C-I1II, D-II

4. A-II. B-I11. C-IV. D-I

Options :

68634088389. 1
68634088390. 2
68634088391. 3



68634088392. 4

Question Number : 98 Question Id : 68634022369 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 =l 11 ¥ fier ifeg

Tt 1 Tt 11
A L [ od
B. [eldliRid | 1L [gau
C. Rizelwigd |11 [@ag
D. [C=pile® IV. [Tarers]
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1. A-IIL B-IV, C-I, D-II

[ ]

CA-L B-ILL C-IV. D-III

ATV, B-1, C-III, D-II

g

4. A-I1. B-11, C-IV, D-I

Options :

68634088389. 1
68634088390. 2
68634088391. 3
68634088392. 4

Question Number : 99 Question Id : 68634022370 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A [Long pepper 1. Hvocvamus niger
B [Kewra 1I. |Piper longum
C. [lsabgol 1. |Pandanus fascicularis
D. [Henbane IV |Plantage vata

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

| ]

CA-L B-IIL, C-IV. D-III
3. A-IV. B-1. C-I11, D-II
4. A-II. B-I11. C-IV. D-I

Options :
68634088393. 1



68634088394. 2
68634088395. 3
68634088396. 4

Question Number : 99 Question Id : 68634022370 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1T A 1 ¥ e SIS
Gkil T 11
A foge 1 |ergloEag iz
B. [haar 1L |7rz9e
C. [ggania 1L | G779 Grdfiaaiey
D. [g4a+ V. | =7t gy
FFrafeRad fasedl § 9S8! 3R &1 9949 I -

1. A-IIL. B-IV, C-1, D-II

[ )

A-L. B-IL. C-IV, D-III

L

ATV, B-1, C-III, D-II
4. A-I1. B-I11, C-IV, D-I

Options :

68634088393. 1
68634088394. 2
68634088395. 3
68634088396. 4

Question Number : 100 Question Id : 68634022371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Arecanut I. |Vengurla-4
B. |Cashevwnut II. |Chandragiri
C. [Cocoa IT1. [Forastero
D. [Coffee IV |Swarnamangala

Choose the correct answer from the options given below:

1. A-IIL. B-IV, C-I, D-II

| )

. A-L B-II. C-IV. D-III

CA-IV, B-1. C-III, D-1I

Laa

4. A-II. B-I11. C-IV, D-I



Options :

68634088397. 1
68634088398. 2
68634088399. 3
68634088400. 4

Question Number : 100 Question Id : 68634022371 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 191 g1 11 9 o Hifee
Tt 1 T I
A gURl I [oiRal -4
B. [T, 1L [T5ERT
C. [l IIL [BRRE]
D. [@im! IV. [equi diren
frafaRed fawedl § 9 9g! TR &1 98+ 1o

1. A-IIL. B-IV, C-I, D-II

)

. A-L. B-IL. C-IV, D-III

CA-TV, B-1, C-II1, D-II

Lad

4. A-I1. B-I11, C-1IV, D-I

Options :

68634088397. 1
68634088398. 2
68634088399. 3
68634088400. 4



